Paper / Subject Code: 85607 / Economics Paper - 111 (Indian Economy)

Time: 2 Hrs. 30Min Total Marks: 75

NB : 1) All Questions are Compulsory.
2) Figures to right indicate full marks.

Q.1 a) Fill in the blanks with appropriate answer. (Any Eight) (8)
1. Procurement price is than the issue price.
a. More b. Less c. Equal d. Subsidised
2. To address queries of farmers, are operational in various Indian states.

A. Kisan call Centers b. Extension services c. Mechanisation d. Online Services
3. The world's largest healthcare program is
a. MGNREGP b. Swatchh Bharat c¢. Ayushman Bharat d. Make in India
4. Inflation favors the Wage earners.
a. Poor b. Rich c. Middle class d. Farmers
5. Automatic approval for foreign technology agreements will be given by the :
a. RBI b. Government c. Local Banks  d. Private Banks
6. In Industrial Sector, the industrial sickness is the result of factors.
a. Changes extended b. Internal and extended
c. Internal and external d. Changed and external
7. Balance of payments of a country is based on entry book-
keeping system.
a. Double b. Single c. Triple d. Quadruplets
8. facilitates electronic bidding in auctions in government securities.
a. OTCEI b. CCIL c. NSDL d. NDS
9. The sale of equity in public sector enterprise is known as
a. Investment b. Disinvestment c. FPI d. FlI
10. Investment limit in small businesses is
a. 20 lakhs  b.25lakhs c.10lakhs  d. 2 lakhs

b) State whether the following statements are True or False: (Any Seven) @)
1. Unemployment during off season is called seasonal unemployment.
2. Short term agricultural loans are provided for Twelve months.
3.The most important indicator of the financial soundness of banks is Cash Reserve Ratio.
4. Adequate finance is available for small scale industries.
5. Middlemen help farmers to market their products at remunerative prices.
6. The service sector employs the maximum number of people.
7. Deficit in current account is always offset by surplus in capital account.
8. GATT was transformed into WTO on 1% January,1995.
9. Money market deals with short term funds.
10. A decrease in repo rate makes credit cheap.

Q. 2 a) What are the reasons for poor implementation of land reforms? (8)
b) Discuss the effects of income inequalities in India. (7)
OR
¢) Outline poverty alleviation programmes introduced in India. (8)
d) Examine the problems of agricultural marketing in India (7)
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Q. 3 a) Explain the impact of New Industrial Policy, 1991. (8)

b) Describe the role of public sector in India. (7)
OR
c) Highlight the measures taken by the government for the development of small scale

industries. (8)

d) Elaborate the changes in the industrial pattern in India. (7)

Q. 4 a) Describe the nature and scope of service sector industry in India. (8)

b) Discuss the important trends in health industry in India. (7)

OR

c) Explain the various types of foreign direct investment (FDI). (8)

d) Explain the principles and functions of World Trade Organization (WTO). @)

Q. 5 a) Explain the quantitative and qualitative techniques of credit control. (8)
b) Highlight the important players of money market. (7)

OR

Q. 5 Write Short Note On (Any 3) (15)

a) Co-operative marketing
b) Pattern of industrialization

c) SAARC
d) Unorganised Indian Money Market
e) SEBI
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